

Relationships Between the Sum of Divisors and Partition Functions Via Determinants

R. Cruz-Santiago, J. López-Bonilla and S. Vidal-Beltrán

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We show how the partition and divisor functions can be connected by determinants.

Key words: Partitions – Determinants - Sum of divisors

INTRODUCTION

Gould [1] exhibits the following result:

$$\text{If } e_n = \sum_{j=0}^n b_j^{(n)} c_{n-j}, \quad n \geq 0, \quad b_0^{(k)} \neq 0, \quad (1)$$

Then

$$c_n = \frac{1}{\prod_{r=0}^n b_0^{(r)}} \begin{vmatrix} e_n & b_1^{(n)} & b_2^{(n)} & b_3^{(n)} & \dots & b_n^{(n)} \\ e_{n-1} & b_0^{(n-1)} & b_1^{(n-1)} & b_2^{(n-1)} & \dots & b_{n-1}^{(n-1)} \\ e_{n-2} & 0 & b_0^{(n-2)} & b_1^{(n-2)} & \dots & b_{n-2}^{(n-2)} \\ e_{n-3} & 0 & 0 & b_0^{(n-3)} & \dots & b_{n-3}^{(n-3)} \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ e_0 & 0 & 0 & 0 & \dots & b_0^{(0)} \end{vmatrix}, \quad (2)$$

with interesting applications.

Jha [2, 3] obtained the relation:

$$p(n) = \sum_{r=0}^n (-1)^r \binom{n+1}{r+1} p_r(n), \quad n \geq 0, \quad (3)$$

With the structure (1):

$$\frac{p(n)}{(n+1)!} = \sum_{j=0}^n \frac{p_{n-j}(n)}{j!} \frac{(-1)^{n-j}}{(n-j+1)!}, \quad e_n = \frac{p(n)}{(n+1)!}, \quad b_j^{(n)} = \frac{p_{n-j}(n)}{j!}, \quad c_{n-j} = \frac{(-1)^{n-j}}{(n-j+1)!}, \quad (4)$$

Then (2) and (4) imply the connection:

$$\frac{(-1)^n}{(n+1)!} = \frac{1}{\prod_{r=0}^n p_r(r)} \begin{vmatrix} \frac{p(n)}{(n+1)!} & \frac{p_{n-1}(n)}{1!} & \frac{p_{n-2}(n)}{2!} & \frac{p_{n-3}(n)}{3!} & \dots & \dots & \frac{p_0(n)}{n!} \\ \frac{p(n-1)}{n!} & \frac{p_{n-1}(n-1)}{0!} & \frac{p_{n-2}(n-1)}{1!} & \frac{p_{n-3}(n-1)}{2!} & \dots & \dots & \frac{p_0(n-1)}{(n-1)!} \\ \frac{p(n-2)}{(n-1)!} & & \frac{p_{n-2}(n-2)}{0!} & \frac{p_{n-3}(n-2)}{1!} & \dots & \dots & \frac{p_0(n-2)}{(n-2)!} \\ \vdots & 0 & 0 & \frac{p_{n-3}(n-3)}{0!} & \dots & \dots & \frac{p_0(n-3)}{(n-3)!} \\ \vdots & \vdots & \vdots & \vdots & \ddots & \dots & \frac{p_0(n-4)}{(n-4)!} \\ \frac{p(3)}{4!} & 0 & 0 & & 0 & \dots & \vdots \\ \frac{p(2)}{3!} & 0 & 0 & 0 & & \dots & \frac{p_1(2)}{1!} \frac{p_0(2)}{2!} \\ \frac{p(1)}{2!} & 0 & 0 & 0 & & \dots & \frac{p_1(1)}{0!} \frac{p_0(1)}{1!} \\ \frac{p(0)}{1!} & & 0 & 0 & & \dots & \dots \frac{p_0(0)}{0!} \end{vmatrix}. \quad (5)$$

For example, from (5) for $n = 4$:

$$\frac{1}{5!} = -\frac{1}{25} \begin{vmatrix} \frac{p(4)}{5!} & \frac{p_3(4)}{1!} & \frac{p_2(4)}{2!} & \frac{p_1(4)}{3!} & \frac{p_0(4)}{4!} \\ \frac{p(3)}{4!} & \frac{p_3(3)}{0!} & \frac{p_2(3)}{1!} & \frac{p_1(3)}{2!} & \frac{p_0(3)}{3!} \\ \frac{p(2)}{3!} & 0 & \frac{p_2(2)}{0!} & \frac{p_1(2)}{1!} & \frac{p_0(2)}{2!} \\ \frac{p(1)}{2!} & 0 & 0 & \frac{p_1(1)}{0!} & \frac{p_0(1)}{1!} \\ \frac{p(0)}{1!} & 0 & 0 & 0 & p_0(0) \end{vmatrix} = -\frac{1}{25} \begin{vmatrix} 5 & 0 & 1 & 0 & 0 \\ 5! & 0 & 2! & 0 & 0 \\ 3 & 5 & 2 & 0 & 0 \\ 4! & 1! & 1! & & \\ 2 & 0 & -1 & -1 & 0 \\ 3! & 0 & 0! & 1! & 0 \\ 1 & 0 & 0 & -1 & 0 \\ 2! & 0 & 0! & 0! & 1 \end{vmatrix} = \frac{1}{120}.$$

Jha [2] deduced the expression:

$$\sigma(n) = n \sum_{r=0}^n \frac{(-1)^r}{r} \binom{n}{r} p_r(n), \quad n \geq 1, \quad \sigma(0) = 0, \quad (6)$$

With $\lim_{r \rightarrow 0} \frac{p_r(n)}{r} = 0$, and (6) can be written in the form (1):

$$\frac{\sigma(n)}{n! n} = \sum_{j=0}^n \frac{p_{n-j}(n)}{j!} \frac{(-1)^{n-j}}{(n-j)! (n-j)}, \quad e_n = \frac{\sigma(n)}{n! n}, \quad b_j^{(n)} = \frac{p_{n-j}(n)}{j!}, \quad c_{n-j} = \frac{(-1)^{n-j}}{(n-j)! (n-j)}, \quad (7)$$

Therefore:

$$\frac{(-1)^n}{n! n} = \frac{1}{\prod_{r=0}^n p_r(r)} \begin{vmatrix} \frac{\sigma(n)}{n! n} & \frac{p_{n-1}(n)}{1!} & \frac{p_{n-2}(n)}{2!} & \frac{p_{n-3}(n)}{3!} & \dots & \dots & \frac{p_0(n)}{n!} \\ \frac{\sigma(n-1)}{(n-1)! (n-1)} & \frac{p_{n-1}(n-1)}{0!} & \frac{p_{n-2}(n-1)}{1!} & \frac{p_{n-3}(n-1)}{2!} & \dots & \dots & \frac{p_0(n-1)}{(n-1)!} \\ & & \frac{p_{n-2}(n-2)}{0!} & \frac{p_{n-3}(n-2)}{1!} & \dots & \dots & \frac{p_0(n-2)}{(n-2)!} \\ \frac{\sigma(n-2)}{(n-2)! (n-2)} & 0 & 0 & \frac{p_{n-3}(n-3)}{0!} & \dots & \dots & \frac{p_0(n-3)}{(n-3)!} \\ \vdots & \vdots & \vdots & \vdots & \ddots & \dots & \frac{p_0(n-4)}{(n-4)!} \\ \vdots & \vdots & \vdots & \vdots & & & \vdots \\ \frac{\sigma(3)}{3! 3} & 0 & 0 & & 0 & \dots & \vdots \\ \frac{\sigma(2)}{2! 2} & 0 & 0 & 0 & & \dots & \frac{p_1(2)}{1!} \frac{p_0(2)}{2!} \\ \frac{\sigma(1)}{1!} & 0 & 0 & 0 & & \dots & \frac{p_1(1)}{0!} \frac{p_0(1)}{1!} \\ 0 & & 0 & 0 & & \dots & \dots \frac{p_0(0)}{0!} \end{vmatrix}. \quad (8)$$

From (8) for $n = 4$:

$$\frac{1}{4!4} = -\frac{1}{25} \begin{vmatrix} \frac{7}{96} & 0 & \frac{1}{2} & 0 & 0 \\ \frac{4}{18} & 5 & 2 & 0 & 0 \\ \frac{3}{4} & 0 & -1 & -1 & 0 \\ 1 & 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & 0 & 1 \end{vmatrix} = \frac{1}{96}.$$

Osler-Hassen-Chandrupatla [4] showed the property:

$$\sigma(n) = \sum_{k=0}^n k a_{n-k} p(k) = \sum_{j=0}^n a_j (n-j) p(n-j), \quad (9)$$

where:

$$a_j = \begin{cases} 0 & \text{if } j \neq \frac{N}{2} (3N+1), \\ (-1)^N & \text{if } j = \frac{N}{2} (3N+1), \end{cases} \quad N = 0, \pm 1, \pm 2, \dots, \quad (10)$$

Then (1), (2) and (9) imply the determinant:

$$n p(n) = \begin{vmatrix} \sigma(n) & a_1 & a_2 & a_3 & \cdots & \cdots & \cdots & a_n \\ \sigma(n-1) & 1 & a_1 & a_2 & \cdots & \cdots & \cdots & a_{n-1} \\ \sigma(n-2) & 0 & 1 & a_1 & a_2 & \cdots & \cdots & a_{n-2} \\ \vdots & \vdots & 0 & 1 & a_1 & \cdots & \cdots & a_{n-3} \\ \vdots & \vdots & \vdots & \vdots & 1 & \ddots & & \vdots \\ \sigma(1) & 0 & 0 & 0 & \vdots & \ddots & & a_1 \\ \sigma(0) & 0 & 0 & 0 & 0 & 0 & \cdots & 1 \end{vmatrix}. \quad (11)$$

From (11) for $n = 4$:

$$4 p(4) = \begin{vmatrix} 7 & -1 & -1 & 0 & 0 \\ 4 & 1 & -1 & -1 & 0 \\ 3 & 0 & 1 & -1 & -1 \\ 1 & 0 & 0 & 1 & -1 \\ 0 & 0 & 0 & 0 & 1 \end{vmatrix} = 20 \quad \therefore \quad p(4) = 5,$$

and for $n = 5$:

$$5 p(5) = \begin{vmatrix} 6 & -1 & -1 & 0 & 0 \\ 7 & 1 & -1 & -1 & 0 \\ 4 & 0 & 1 & -1 & -1 \\ 3 & 0 & 0 & 1 & -1 \\ 1 & 0 & 0 & 0 & 1 \end{vmatrix} = 35 \quad \therefore \quad p(5) = 7.$$

REFERENCES

1. Gould, H.W., 2010. Combinatorial identities. Table I: Intermediate techniques for summing finite series, Edited and compiled by J. Quaintance, May 3, 2010.
2. Kumar Jha, S., 2020. A combinatorial identity for the sum of divisors function involving $p_r(n)$, Integers 20 (2020) # A97.
3. Kumar Jha, S., 2021. A formula for the number of partitions of n in terms of the partial Bell polynomials, The Ramanujan Journal, Feb (2021) 1-4.
4. Osler, T.J., A. Hassen and T.R. Chandrupatla, 2007. Surprising connections between partitions and divisors, The College Maths. J., 38(4): 278-287.